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6. MA 2| xR

- MA A2 4,03388kha (FAO, 2011), |X|HZAO| of 31.0%, %47t 1071=0f 2IX|
- &Y 22 §E(4.9%), H0((21.4%), 50|, Oot=2|7}, OtA|Of, 2 AM[OfL|Ot &=
- MA AMEHEHO| B3k 1990 ~ 2000 OfH 8% 38 Otha 2t A (-0.2%),

2000 ~2010H OfH 5HM2uTthat Z+HA(-0.13%)

MA ME=H: 52719 m, 0|, 78, &0

MH>

=5 40|, 230], oj=Z2|7} 98 &

o 101
x| MY A2 AEEHE Do AEHH haQ =X

- (440tha) (440tha (%) = (E"_; B (2 m) (m'/ha)
o= 2|7} 2,974.0 674.4 227 0.68 769.5 114.1
OfA| O} 3,091.4 592.5 19.2 0.15 536.8 90.6
Q M| OFL|O} 849.1 1914 22.5 5.48 208.8 109.1
o 2,214.7 1,005.0 454 1.37 1,120.6 111.5
Lh0| 1,746.3 864.4 49.5 2.25 1,771.9 205.0
20 2,135.0 705.4 33.0 1.32 864.1 122.5

Al 13,010.5 4,033.1 31.0 0.60 5,271.2 130.7
- HEAAME 327 m (T ZHC| & 0.6%), 1 & 56.5%7F e &
- MAHEXN > HEEX : 50/, 2AMOIL|Of, |
1 MlA2| 8xH4AH2EF(2009) (EtQ|: Dby, %)
QI AHAL2E oo

| 2005 2009 (%) &% 28X
OFA| O} 1,038.8 1,010.6 30.9 7707 (76.3) 2400 (23.7)
o= 2|7} 647.1 674.1 20.6 5024 (74.5) 716 (25.5)
= 679.2 596.0 18.2 1414 (23.7) 4546 (76.3)
20| 670.5 452.1 13.8 426 (94) 409.5 (90.6)
=) 463.8 4813 14.7 2829 (58.8) 1984 (41.2)
Q A|OFL|O} 61.1 610 1.9 107 (17.5) 50.3 (82.5)

Al 3,560.4 3,275.1 100 1,850.7 (56.5) 14244 (43.5)
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